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���	���	���edynczego pomieszczenia biurowego (rys. 3).

&	�����5�����	���	���		�����
��		����	���5���	��;�	6�	4���
�	
����
�	��5���	��;	���y
��
�	���
�	�����
�
���E

!D ��
�	������
��
��	�����	�����
��	��	�������
��
���
"D ��
�	���
�
��	�	�������
��
��	
�	���
:���	4	��
�		�������	8
��
;	����	��
��



'"( &��
��
�	#����

�������	F������	�	
������
��	�
�����	�����
��	�		����
���	�	���
��		�����

���	������

����� �	F������	�	
������
��	�
�����	�����
��	�		�	����
����		����
��

�����!�	F������	���	
���	
��		����

�	�����
��		���	�	����
����		�	���
����
��

Tpom 

T

T

T

TTw 



�����	���	
��	�
�����	
����
��	�����	���	
��	���	���
	
�	���������	�������
�� ���

����
��	
����
�	�	������
���	�������
��
����	�����
�	�	�����	 ���	 �	�	���		 �	����
������	�� !	"��	�� 
	���	����	����������		�	�������
��
��	�����		��	���
�
		�	
�	�������#


�!	$	���
��	�����o
	�	�������
��	��	� ��	�� 	������%!	&��
�	��	������%	����

( ) ( )w z p pom wFc T T T T K− = − (1)

gdzie:
� G �����5��	������	����	�rzez grzejnik,

cw G 
���5�	�5�8
���	����'

Tz G ��������	��	
�	���8
�		�����
���'

Tp G ��������	��	
�	���8
�		�����
���'

Tpom – temperatura pomieszczenia,

Tw G ��������	��	
�	���
:���'

� G 8���
�	����5
��

��	�����
�	
���5�	�����	8
��
;	�	��
�	�����
�6�
�	�����
po�����
�
�;	�����
��

=�	������4�	�����	'	�����
��	��6
�	 ��������?	 ����	 �	�;�	)�6
�	 ���6�	���
�
��?
���(��	��������	����	�����
���'	
�	�����
��	������
�	�	�������	
�;8
��

H�;���	�����
���	������6�
�	�:	�	������	����	�	���	��������	4����8���
����	���a5��
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�	������
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�	��5�6�
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��		�����
��'	���	�����5��	����	����
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	4�?	��;�����	>
�	�
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��	��
������5���8?	������	��;	�5	��
�'	
���
���	������	��	����		C�D	
�	��
	������
�a
:	
��	����
��	�
�������'	��
����6	���	���;����	��;	�����5��'	��	���6�	���;����	��;	�p,	�	��;
	�z–Tp

	����	 ��
������
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��
�	��5�6�
�'	6�	�z	����	
������6
�	��	�����5��	�	@;����	��	����

��		����;�
��
�	����	�
������	��4��		���������	�������
���

 � ���������
�����"
�	���#�����	�������������
��

�����#������
�������������	�#�����$�%

)�
	������
��
�	��	�������
��
��	�	���
��		�����
��	����6�	��;	
���;�	�:
��	����
���

( ) ( )w z pP F Fc T T= − (2)
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θ p   

0   

θ   

T(θ) 

T(θ+dθ) 
  

θ   

θ +d θ   

T pom   

T( θ p )=T p   

T(0)=T z   
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�	����
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��	������

( ) ( ) ( )
( ( ) )w w pom

dT T T d
s c Fc T T k

dt d

θ θ − θ + θρ ⋅ ⋅ = − θ −
θ

(3)

gdzie:
� G �����5��	������	����	�����	�����
��'

cw G 
���5�	�5�8
���	����'
�CθD G ��������	��	����	�����
���	�	��5�6�
�		θ'
Tpom – temperatura pomieszczenia,

ρ G �;���8?	����'
� G ����5
��

��	�����
�	
���5�	��;���	�����
�����	�	�������
��
����

K��
�
��	C+D	���	���
			�����
���	������	��	�����?

( )
0 ( ( ) )w pom

dT
Fc T T k

d

θ= − − θ −
θ

(4)
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Jest to równanie na profil temperaturowy w stanie ustalonym. Równanie to jest rów
��

���	��6
�
������	��
�����'	�����	����;�	��	��
���
�	��	����

��	���������

���	K���
��:��
��	����	���
�
��	����	4�����	������	�	������	��	�����?

( ) ( ) w

k

Fc
z pom pomT T T e T

θ−
θ = − + (5)

Tz	4;�:
	���	
����	4��������	���
�
��	
�:��������	C+D'	��6
�	����������?	����
���	
��	��
�:�����	���
�
��	C D'	�����	����

:	
������6
:	����	θ.

���	��;
	�	��
�����
�8
�

( ) ( )

p

w

k

Fc
p p z pom pomT T T T e T

θ
−

= θ = − + (6)

���������	
�	������������
����������������
������
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�	
����
�	�	���
��		�����
��	���	�������
��
��	��6
�	������?	����

( ( ) ) ( )

p

w

k

Fc
w z z pom pom pom wFc T T T e T T T K

θ
−

− − − = − (7)

���	��;
	��:�

1

1

p

w

p

w

k

Fc
z w w

pom
k

Fc
w

T Fc e T K

T

Fc e K

θ
−

θ
−

⎛ ⎞
⎜ ⎟− +⎜ ⎟
⎜ ⎟⎝ ⎠

=
⎛ ⎞
⎜ ⎟− +⎜ ⎟
⎜ ⎟⎝ ⎠

(8)

��������:
	CLD	��	CID	����	CID	��	C!D'	�	
���;�
��	�4��
���:
	��
���
:	C!D	��	���e�5��
���'	������	��	��;	������
�
��	����6�
��

2

2

( )
1 1

1

p

w

p

w

k

p Fcw z w

k w

Fc
w

kc T T KdP
e

dF Fc

Fc e K

θ
−

θ
−

⎡ ⎤
θ⎡ ⎤− ⎢ ⎥= − + ⋅⎢ ⎥⎢ ⎥

⎣ ⎦⎡ ⎤⎛ ⎞ ⎢ ⎥⎣ ⎦⎢ ⎥⎜ ⎟− +⎢ ⎥⎜ ⎟
⎜ ⎟⎢ ⎥⎝ ⎠⎣ ⎦

(9)
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����6�
��	�z–Tw	����	������	�����
��'	��;
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��		
�5���	����6�
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��	��	�
��
����6�
��

1 1

p

w

k

p Fc

w

k
e

Fc

θ
−θ⎡ ⎤

− + ⋅⎢ ⎥
⎣ ⎦

(10)

,����������	��;'	6�

1 1 0

p

w

k

p Fc

w

k
e

Fc

θ
−θ⎡ ⎤

− + ⋅ ≥⎢ ⎥
⎣ ⎦

(11)

Zróbmy pomocnicze podstawienie

p

w

k
A

Fc

θ
= (12)

���	��;
	����������	
��

[ ]1 1 0AA e−− + ⋅ ≥ (13)

czyli

1 0Ae A− − ≥ (14)

-����
��	����6�
��	�	�����	����
�	
�����
�8
�	����	(	
�
�:	���
:
:	����

��	������

���	�	M	.	���	��	��;'	��;
	����	�����:�	N����	��	��������?'	��
�:
	��
���
:	C	A–1 ≥ 0 dla
A ≥ 0).

Rozumowanie to do�����'	6�	��
	������
��
�	��	�������
��
��	�����	�����
��	����
���
:
:	 (	
�
�:	�����5��	'	�	 4���:
	 ���6�	���		���;	����	 CJD'	��
�
��	 ��'	 �6	�pom jest
ro�
:
:	(	
�
�:	�����5��		��	=���6�	�������
��?'	6�	��	�����6�
��	����
�:	����
��	���
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�����'�	���	����	��	���������	�����	�������

/�	����		CJD	��
���	���
��6	���
�	�

�	����6
�8?�	7���	�
�	������������
�	�	�����
�����	�������
��	
����;�
���	������8
�:	�z'	�	���5��
���	������8
�:	�zco'	4;�:
:	��������
�	�:	 ������
��	���	��������
�	 4	��
���	���5:
��nych do systemu grzewczego (rys. 1).
Stero��
��	��������	�:	�zco ����		����6
��
�	��	��������	��	���
;���
��	�w tak, aby utrzy-
my��?	���5:	��������	�;	�pom = 20oH	A B�	���	��;
'	���	��	������	CJD	����
�	��;	�����
�
�z na Tzco	����	����
�	��;	����
�	�����8
�	�w	
�	�����8?	�w + ΔTw'	��	����4�	4;����	���
��6
����
�?	��������
���	����(���
��	�����8
�	�z	
�	�����8?	�z + ΔTz	���'	4�		������?	���5:
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�
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�����8?	�pom�	=���;�
��'	�����	�:
	����
���	���	���������5
�
�	���
�
��	��	���
�
��	CJD
C���
��6	����	�����
��
��	�z na TzcoD'	������	��	��;	��	���
�
�	���e�����5
�
��
�	����6�

�8?	C�0D

1

p

w

zco
k

w
Fc

w

T K

T

Fc e

θ
−

Δ −=
Δ ⎡ ⎤

⎢ ⎥−⎢ ⎥
⎢ ⎥⎣ ⎦

(15)

���	��;
	 ����	����8
��	 ��������	��	 ���
;���
��	 �	 �oC temperatura Tzco	 ����

�
���8?	�	�����8?	4������;�
:	������	����
�	����6�
��	C�0D�	������8?	��	���	��
���	���e-
�5��		 ����	���5�	 �	4���:
	���		���;		8���
��
�	���������		�5��		 �	 �����	�:
	
�5�	������
�����
��	�4���	�:
�	�����

��	
���5�	����	��	����������	4	��
����	������
���	�����

����	����	����
	������	�����
��'	��6
�	�����	����6�
��	������?	���	
�5���		�5��	�	�	��s-
temie grzewczym AGH temperatura Tw	����	��4����
�	�	
�	�
���	�	����	������������
�	��
����
��
��	�����8
�	����
��	�zco(TrefcoD	A B	C����	0D�	�����8?	��	����	����
��
�	��	����	

refco prof XOT T T= + (16)

gdzie:
Tprof G ��������	
�	��������	�;	�	�����	
�

��	�	8��:��
�
��'

Txo G �����8?	 ����
�	 ���	 ���	��
��	 �zco	 4��	 	����;�
��
��	 ��������	 
�

�
�
�	8��:tecznych.

�����(�	F������	������	���������	�
��	1��
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Z kolei

Txo = T – 1,75Tw.

�������	�����	 ����	�����
�	�
�����	
�	� ��!��
�	 "��#$	�
������	�	%�6
�	����
&�?
&	���'
�''	6�	(�&�	�w = 20oH	�����8?	�zco = 20oC. Zatem T = 55oC.

�����8?	(�&�(5��'	�	&�	�&��'	C�0D	����	���5�	�	����	��%'�&�
�	(�&�&	(�%(;	'%���z-

&�
:	(�	��)�
��	����
��	��%��

���	
��(5��

�����)�����
�� !�����	
�	��	���������
����������������
������

*�'	6�	('
�
��	�C�D	����	���
:
�	%�6
�	�(���+&�?	��6	�	&'(�5
��	�

�	�(��)4�
N����	�(���+&�?'	6�

0

( ( ) )

( )

p

w

p

w

k

Fc
w z z pom pom

k

Fc
z pom

P Fc T T T e T

T T e d k

θ
−

θθ −

= − − − =

= − θ⋅∫

(17)

O'
�
��	(�+
�5����	����	&���&�	
��'��%
��	7�8��	'+�	��;	����&�?'	6�	+��	��6+�,�	θ
('
�
��	(�+
�5����	����	���
:
�'	��	���6�	
�5�	
�5��	4;+&��	���
:
��	-���%	��&�4�	��	�(��w-
+&�?'	(�+�������:
	&�	�pom �&)�	CLD�	<�	(�&���&��5
�
��
�	('
�
��	(�+
�5����	%�	(����?

( )

1

p

w w w

z w
kk k

Fc Fc Fc
w

T T K
f

Fc e e Ke

θθ θ−

−
=

⎡ ⎤
⎢ ⎥− +⎢ ⎥
⎢ ⎥⎣ ⎦

(18)

N����	�)�
��6	�(���+&�?'	6�

2

( )

2 2

( )

1

( )
( )

p

w w w

p p

w w w

z w

kk k

Fc Fc Fc
w

k k k
pFc Fc Fc

w w w
w w

T T Kdf

dF

Fc e e Ke

k k
c e Fc e Fc K e

F c F c

θθ θ−

θ θ−θ θ−

−
= − ⋅

⎡ ⎤⎡ ⎤
⎢ ⎥⎢ ⎥− +⎢ ⎥⎢ ⎥
⎢ ⎥⎢ ⎥⎣ ⎦⎣ ⎦

⎡ ⎤θ − θ θ⎢ ⎥⋅ − + − +⎢ ⎥
⎢ ⎥⎣ ⎦

(19)

����	����6�
��%	
��'��%
�%	+��	��6+�,�	θ.
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��(5�	4�5�	����	��%�	���	��%(����'��	&����a�:
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